Name Test 2

CHEM 0201 (Organic) Fall 2018
1. (12 pts.) Provide IUPAC names for the following structures (ignore stereochemistry).
1.
a. Cl b. H;CO
2.
3.
2. In class, alcohols were described as organic analogs to water. 4.
a. (4 pts.) Draw the skeletal structure of an alcohol (any alcohol).
b. (8 pts.) Describe two ways that alcohols are similar to water. (Noting that alcohol and
water are made with similar atoms is not sufficient.) 5.
6.
7.
8.
9.

10.

3. (8 pts.) Draw Newman projections along the Cz2 to Cs bond of the following rotamers.

a. b. Cs OH C,

Cl




4. The following structures are Newman projections along the Cz to Cs bond of 3-methylpentane.
a. (8 pts.) Label the molecules as staggered or eclipsed and label any gauche interactions.
CHg CHs,
HaCH,C H HaCHAG

H H H
CHj H cH, H

b. (8 pts.) Draw the lowest and highest energy rotamers below.

5. For each pair of structures below (a. 8 pts.) determine whether the structures represent the
same or different molecules and (b. 8 pts.) circle the molecule that would be lower in energy.

P ey

TS A =

6. (12 pts/) Determine whether the following alkenes are the Z or E isomers. If the molecule doesn’t
have a Z or E isomer, write “NA”.



7. (a. 10 pts.) Place a * next to the chirality centers on the following structures, and (b. 10 pts.)
circle the chiral molecules.

HO, oH OH
Cl '/,/// / \

8. (12 pts.) Determine the configuration of the chirality centers in the following structures.
Cl > CHg
’ H OH
CH,CHj,

9. (12 pts.) Determine whether the pairs of structures below are enantiomers, diastereomers, or
the same structure.

1. Br 1.

Br

cl

Cl Cl Cl

1. Cl HO

”R (S S A

HO

10. (12 pts.) Mark the following “true” or “false”, please use the whole word.
Enantiomers have the same boiling points.

Diastereomers have the same boiling points.

Chiral molecules rotate the plane of polarized light.

Enantiomers rotate the plane of polarized light in opposite directions.
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